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2. BREHRMEF
1) (KEVEE H = 3.0m

2) XFME YT HEETE

a. 1R Py = 2.0 m
b. HR#& A7 kR h, = 1.35m
T AREEA DS — R SR S 56 & C o B
h, = 0.15m
c. RATE L, = 233m
22 (7 L E EE LY _ EERG A ETo HEEk
h, = 070m
Yz A7 LI E EEW L BRig A 7 £ T B
a = 0.65 m
ez AT IR E E LD T BB A 7 £ T B
hy, = 2.00m
d. EBEAA7HR b = 1.20 m
RANES hg = 1.00 m
3) A
LAY H—R7Fvh
M B CGC400
wE 0.8 mm
BEiE W = 50 cm
W A AR 2K Z = 1.17 cm®
HAEMTIE N E AR EDT-D1.3ET 5
fb = 16300 N/cm®X1.3= 21190 N/cm®
K HE
[EAEES d = 4.86 cm
R E 2.4 mm
M E STK500
W T AR A = 348cm’
W AR 2K Z = 383cm’
W 20K o122 i= 1.64 cm
T BRI E AR EDFD1.3METS
fb = 23430 N/cm*X1.3= 30459 N/cm®
BHEER
fit 71 AT EDID1.3ET5
BEXII7T 4900 N/ X 1.3= 6370 N/{&
BEIZT 3430 N/fE X 1.3= 4459 N/1{&
4) A&
A DRSS E
N = 200 kN/m* =  20.0 N/cm®
3m-2
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3. EffE
B BEOMRFHUIEMIER TESREMEICSH R IEOREFNEE)IZ

RENBFELEBEALE,
1) BRE R
VZ VO Ke N S N ER
BRI E T RICKET S
V, . #i ERIZIZRIT ARG EGE
Vo @ EHERGE 18.0 m/s
16~20m/sDH H— ka7 ik & & H
Ke : HBEREIHEHRE 1.00
T « i E BRS — AR B0 70 5
S : M EEEZICRIT AR EGE AR 1.50
# EMSDOEE0~5m, EE - H
Er : TEREREMICLLEEREK 1.00

LB BRE (BE50mil B) MEWES ) BEN TW 53554

AIZ EFEEE AN E A REE RS
V,= 27.0 m/s

)=’“=+%$FFJ—
= 5,/8V,?
qz : HiEBS(Zm) ki 455 AEERE
V, : # EEIZICRBIT ARG EGE (1 T3 E{H)

NIMEEZ AR FEREELZ RO D
q,= 455.6 N/m’

3) B
C=(0.11+0.945C, *R) - F
C : Bk
R : ML (M EDOLEOHE) 0.58
Co : EARNRE(EEER=1) 2.00
F : BREMBICISMERE RS EE) 1.00
;J:‘Eﬁ%]\nﬂﬁf%#(%*&)é
Cc= 1.21
4) AfFE
P=q;-C
P : EEH
N2 - 3EFHEEE AR ELRDD
P= 5496 N/m’ = 0.055 N/cm®
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4. {RERVVRORR S

B EREHI-VOWE
w= P-W= 0.055 N/cm® X 50 cm= 2.75 N/cm
HiFE—A b 2
weL? 2.7479 N/cm X 135 cm
M= — — 6260 N+cm
8 8
HT S
M 6260 N-<cm
o=""" = T = 5350 N/em® < 21190 N/cm?
7 1.17 cm®
5. A&k A7 D¥REt
FMEORF 2P BT THRETT S
B RSHI-VORE
w= P-W= 0.055 N/cm® X 135 cm= 7.42 N/cm
HiFE—A b )
w-L? 7.42 N/cm X 200 cm
M= = = 37096 N-cm
8 8
B TS
M 37096 N-cm
o=""" = T = 9686 N/cm’ < 30459 N/cm”
z 3.83 cm®
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6. ot

1) ffE
iR AT IO ORTE
P1=P'PW(h1/2+h2)
= 0.055 N/cm®* X 200 cm X ( 135 cm=2+ 15 cm) = 907 N
B AR AT LD DORFE
P2=P'PW'h1
= 0.055 N/cm?® X 200 cm X 135cm = 1484 N

2) LA FHEORE

HiFE—A
M=P, h,= 907 N X 70 cm= 63476 N-cm
HT IS 7
M 63476 N-cm
o=""" = ——— = 16573 N/em® < 30459 N/cm®
z 3.83 om’®
3) HEXEDOMRE
i E— Ak
Pyra<h; 1484 N X 65 cm X 135 cm
M= &= = 65104 N-cm
L 65 cm+ 135 cm
TR
M 65104 N-cm
o=""—" = —— = 16998 N/cm® < 30459 N/cm®
Z 3.83 cm®
3m-5
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7. P2 AT O
1) EEEERICIHLATE
2'h1'P1+h1'P2

Py= =
hy
2X 135 cm X 907 N + 135 cm X 1484 N
200 cm
&S 2226 N
2) 2 AT TN DE )
P4 2226 N
Q= = = 4326 N
cos 0 0.51
3) FEJR DGt
MR L
Lk 233.2 cm
A= = = 142
i 1.640 cm
AR FR L

A=p/ n’E/0. 6F= 97.6
F= 35500 N/cm®

FoT
A > A DIHDRNEFEAL ., TR % RDD
0.29 0.29 X 35500 N/cm®
fk= " F = = 4849 N/cm®
(L/A)? (1422 + 97.60 )°
JEHEIS IR | FF ARSI LS5
Q 4326 N/cm2
oc="—___ = - = 1243 N/cm® < 4849 N/cm®
A 3.48 cm’
4) P2 AT X ROBRFEEBEORE
Q= 4326 N < 4459 N/fEl= B/ 7 7T
3m—6
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8. HEMEmOMEt

B I I oY YRS )
No= Pj-tanf = 2226 N X
ElZInbs54k 7
To= - Ng=  -3710N
FTHIADBE RAT DRRE
h : HERSTORANES
N : HROIFFERSE
N= 200 kN/m” =
d : BEELTAR 48.6 mm
1) XFH
1 N r-d®
Qi=—— (m+d*h — +40-N- )
1.5 5 4
1
= — x( 3.14X 4.86 cm X
1.5
3.14 X
+ 40 X 20.0 N/cm*X
4
= 13958 N
2) BlHiEHS
1 N
Q’I‘= —_— '7'C'd'h' —_—
1.5 5
1
= —— X 3.14X 4.86 cm X
1.5
= 4069 N
3m-7
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1.67 = 3710 N
1.00 m
20.0 N/cm?
20.0 N/cm®
100 cm X
5
2
4.86 cm
)
> No= 3710 N
20.0 N/cm®
100 cm X
5
> To= 370N



